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1, 0.1 i ' 3.25 ppn
2 .3 gl B.75 ppn
3. 0.5 ol 15.09 ppnm
4 10 gl 31.71 ppm
3. 1.9 gl 50.58 ppn
6. 2.0 ul 64.%8 ppn
7. 3.0 90.77 ppm
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2. Expregseach of the following to the correct number of significant
figures : (5-?;—)
(a) 189.2003 - 13.47 -2.564
(b} 503.9 x2! 7 x ).0392)7
a7
() {{(35+003)—1.854 + 0065) X {13.64 £ 0.02)

3. Calculate the pH required to decreased the iron conc.-in a water
supply to 0.03 mg/t if (a)the iron is the Fe™*
form, (b) the iren is in the Fe" form. {/ 9‘?;)
Fe(CH), = Fe? + 300" K, = §xi0™
Fe(QH). = Fe'? + 21 K, = 3xp™
Fe(OH),, +2H 2 Fe'l + 25,0 K, = 8. 0x10"
F2{OH),,,73H 2 Fe?® + 3,0 K, = 9.1xI1¢’
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4 How would you expect pE to vary with depth in 2 stratified iake? = ¢ SZ Y

5.Why is chelating agent usually added to titrate solution preventing

matrix efface. ¢ 5‘;)
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